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C2 Paper K — Marking Guide

L =[x - 3 +4a) MI Al
_ (64 1 5 — 9
=(& -40+16)- (4 -3 +4H=-2 MI AL 4
2. x 1 15 2 25 3
Vax-1 35 7 3 G M1
area= 1 x0.5x [V3 + VIT +2(45 + V7 +3)] B1 Ml
=5.20 (3sf) Al C))
3. (a) (i) =logy,x—logy2=y—-1 M1 Al
(i) = logzx% =llog,x=1y M1 Al
1., —
b)) 20-1)+3y=38
y=4 Ml
logyx=4, x=2'=16 M1 Al (7)
4. (@ f'x)=-1-3x" MI Al
x*20 forallrealx = —1-3x*<-1 Ml
. f/(x) <0 = f(x) is decreasing for all values of x Al
() f(1)=2-1-1=0 .. (1,0)on curve Bl
© =] @-x-x)d
=[2x - $x° - 147 M1 Al
:(2_%_%)_(0):% MI Al (9)
5 (@ cos’P=1-(2)y=3 Ml
acute .. cos ZOPR = \E = %\/g Al
B)  OR=T+(35)7-2x7x 35 x 15) MI Al
OR*=49+45-70=24
OR = 24 = Jax6 = 26 MI Al
. 2
sinQ _ 3
© NN Mi
sin Q = %
ZPQOR = 65.9° (1dp) M1 AL (9)
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(@ p(-2)=20 ..-16+4-2a+b=20 Ml
b=2a+32 Al
®)  p(=3)=0 .. —54+9-3a+bH=0 Ml
sub. —45-3a+(2a+32)=0 Ml
a=-13,b=6 A2
(c) %~ 5x + 2
x+3)2c + X —13x + 6
20 + 6x
— 5x% — 13x
-5 - 15y MI Al
2x + 6
2x + 6
p(x) = (x + 3)(2x* — 5x +2)
p(¥) = (x + 3)(2x — 1)(x - 2) M1 Al (10)
(@  x+ 7 =1.2490, n+ 1.2490 = 1.2490, 4.3906 B1 M1
x=0.46, 3.61 (2dp) MI Al
(b)) 2sinycosy=siny M1
siny(2cosy—1)=0 M1
siny=0 or cosy=1 Al
y=0,mor 3,2n- % B1 M1
— T St
y_o’ gsnaT Al (10)
(a)  centre = (2, 3) Bl
radius = 449 = \/B M1
=22+ (=3P =(13)? Ml
(x-2+@(-37=13 Al
(b) y=0 .. (x-27>+9=13 Ml
x=2++/4=0(@t0) or 4 .. B(4,0) Al
(¢)  grad of radius = 9= = -2 M1
-. grad of tangent = :—; = % MI Al
2
. —2
L y=0=2(x-4) M1
3y=2x-8
2x-3y=8 Al 11)
(@ r=15
us=1x (1.5 =3.375 mm MI Al
) w=2xSs; GP, a=1,r=15 M1
8
1.5-1
=98.516 = 98.5 mm (3sf) Al
()  areas form GP, a=nx 1*=m, r=(1.5)=2.25 B2
10
total area = % = 8354.8 mm’ M1 Al
= 8313‘}8 em’ = 83.5 cm® (3sf) Al (11)
Total (75)
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Performance Record — C2 Paper K

Question no. 1 2 3 4 5 6 7 8 9 | Total
TOpiC(S) integr. |trapezium| logs |decreasing| cosine | remain. | trig.eqn | circle GP
rule function, rule, theorem,
area by | sine rule | alg. div.
integr.
Marks 4 4 7 9 9 10 10 11 11 75
Student
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